	15.01.2021	Level 3
LI: To solve + and – problems.
Steps to success:
· I can use what I know about + and – to help me solve a problem.
· I can explain my working out.
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Show your working out
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Show your working out
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Annie finds a 20p coin.
She puts it with her other three 20p coins.
Does Annie have enough to ride the ghost train?

Explain why.
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Amir has these coins.
@p @

He spends 54 p. How much does he have left?
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A scarfis £12 and a bag is £25
Whitney buys one of each and pays with a £50 note.
How much change will she receive?
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Ghost Train: 90 p

Annie finds a 20 p coin.

She puts it with her other three 20p
coins.

Does Annie have enough to ride the
ghost train?

Explain why.




image5.png
Alex has 90 pence.
She bought a rubber for 30 pence and
wants to buy a pencil.

Pencil: 70 p

The shopkeeper will not sell her the
pencil.
Explain why.




